INFERL

BEXENSD BEXEADSD BEXEBAHDSD BEXEADSD MRS E
GELIEES £1FLEH E2HREEH SATEAH BOBR

RSINER 0 0 38 i
54

REINER (R 0 0 2 5=

PEFINERER 6 0 35 5=
65

DN () 0 0 9 5=

SEINFER 13 2 34 o
o3

SRINER R 2 0 6 o

SENNFER 3 0 46 o
50

SENDNER () 0 0 5 o

TFEINER 5 0 39 o
55

HENER D) 1 0 8 o

RARNER 1 0 9 o
41

AN () 1 0 4 o

REENFER 15 0 Z=EFH =)
99

RIEES/NER F) ) 1 7 peiid

RERINER 2 0 52 peiid
40

REINER (B 1 0 1 peiid

RHINER 19 2 22 #H
170

RRINER () ) 0 12 peiid

) BRIZESHR

X BEXBAOHLBARRIEHEZSHEI.




